
 

SHAHEEN GROUP OF INSTITUTIONS 
Bidar (Head office)   (MCQ) Urdu Medium  

Class : X      Sub :  Maths             Test  : (05)              Date:   16-06-2021 
 

Maths

.16 
(a)𝐴𝐵ଶ = 𝐴𝐶ଶ + 𝐵𝐶ଶ  (b)  𝐴𝐶ଶ = 𝐴𝐵ଶ + 𝐵𝐶ଶ  
(c) 𝐵𝐶ଶ = 𝐴𝐵ଶ + 𝐴𝐶ଶ(d)𝐴𝐶ଶ = 𝐴𝐵 + 𝐵𝐶  

.17  

 (a)1,2, √3 (b)  1,2,4 (c) 1, 2 ,3    (d)1 , √2 , 3 

.18 AC       
(a)3           (b) 4

5  (c)            (d)7 

.19 12

(a)12 (b)  12 √2 √12   (c)    (d)24 

.20 ∆𝐴𝐵𝐷A𝐴𝐶 𝐵𝐷

(a) 𝐴𝐵ଶ = 𝐵𝐶 . 𝐵𝐷     (b)  𝐵𝐶ଶ = 𝐴𝐵. 𝐵𝐷    
(c) 𝐵𝐷ଶ = 𝐴𝐵. 𝐵𝐶   (d) 𝐴𝐵 = 𝐵𝐶 . 𝐵𝐷

.21  ∆𝐴𝐵𝐶ABC  = 900 𝐴𝐶ଶ =

(a) ABଶ − 𝐵𝐶ଶ             (b)   ABଶ + 𝐵𝐶ଶ   
(c)  BCଶ − 𝐴𝐵ଶ       (d)   ABଶ − 2𝐵𝐶ଶ

.22 PQR 𝑄𝑅ଶ = 𝑃𝑄ଶ  + 𝑃𝑅ଶ

(a)Q  (b) R    (C )  𝑃   (d)

.23 ∆𝐴𝐵𝐶ABଶ = 𝐴𝐶ଶ + 𝐵𝐶ଶACB =
a 60   (b)40     (c)  50  90(d) 

.24 LMN LNM=900LN = NM =   LMN  
(a) 45଴ (b)30଴  (c)  90଴   (d) 50଴  

.253√2 

 (a)√2 𝑐𝑚 (b)3cm   (c)  √2 𝑐𝑚12 (d) ൫√2 − 2൯𝑐𝑚 

.26 8060  
(a)    120 𝑐𝑚    (b) 20 𝑐𝑚(c)   100 𝑐𝑚 (d)140 𝑐𝑚 

.27 ABCD5√2 = 𝐴𝐶 

 (a)20 cm  (b)         25cm (c)     50 𝑐𝑚   (d) √50𝑐𝑚  



 

P. No. 2            

.28 ABCDEF 3=BC 4=EF 54 = 𝑎r (ABC) 

=𝑎r(∆𝐷𝐸𝐹)

(a)  108 𝑐𝑚ଶ(b)  48 𝑐𝑚ଶ(c)   96 𝑐𝑚ଶ(d) 100 𝑐𝑚ଶ

.294:9
(a)2:3   (b) 4:9(c) 81 :16 (d) 16 :81

.30   ∆𝐴𝐵𝐶 ~ ∆ 𝐷𝐸𝐹 6412115.4 =EF=BC 
(a)11.2 cm   (b)  15.1cm  (c)       11 cm     (d) 12.2 cm  

 

ANSWER KEY 

          

          

16 – B 17 –  A 18 – C 19 – B 20 – A 21 – B 22 –  C 23 – D 24 – A 25 – B 

26 –C 27 – A 28 – C 29 – D 30 – A        

             

          

 


